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§1.4af, (PCB) festren o i forg vt awet gfie mil ..., % TAF B
Unit mil used in PCB designs is equal to

a. U ya % kg 91 / One thousandth of an inch

b. uw g = ws @Ei One hundredth of an inch

¢. uF g @ e guat/ One tenth of an inch

d. i s ata at / One fifth of aninch

i @ Fe SMT aeat & v & et & a1t 3 samar 8

Which statement gives the advantage of using SMT components ?

SMT = we?t & / SMT components are expensive

SMT sresit =7 foreme wftwer 3/ Rework of SMT components is difficult

5 PCB 9 o @man smwspar 8/ Can be mounted on both sides of PCB

T BIE AT B o Hon vt qiRee gy € / Difficult to handle as it is small
in size

e oo

- afe Vi BT a1 i Rrert diedst 8 @ rms - Fieos L g

If Vp is peak voltage of a sine wave then rms voltage will be

a. Vp/2
b. Vp/\2
c. Vp¥/2
d. Vp/4

&g YRy Frenor 3 fhur st AT G H G e a1 W g st &
To provide constant voltage, independent of load current variations, use

a. gatw/ Comparator

b. @ yade / Voltage amplifier
¢. dwest fam® / Voltage regulator
d. =t/ Buffer

T PCB 6 998 & f9v g w3 faman 91 aren 59 T
Liquid cleaner usually used for localized PCB cleaning
a. srmdumuEe ubg / [sopropyl acid

b. wEIRTEE sehEie / [sopropyl alcohol

c. IAmEmNGRR arehERT / [sopropanoic alcohol

d. emmwnfe g / Isopropanoic acid

37, T it oy H, S0 au STReye aiied i vty S A R
In a half wave rectifier circuit, frequency of input and output waveform is related

by

a. fout = fin

b, fou =21,
¢. fom =051,
d- fout = 4fm
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eSS RAATEI THR 1 Al FT T T
Voltage stabilizer type which uses motor is-
a.  Hgera warfera / Manual operated

b, w=fem f& / Automatic relay

c. ¥fe dees / Static Voltage

d. i e / Servo controlled

Coating that protects the PCB assembly from moisture, dust in harsh
environment
a. srffisa / Conformal

b. Sy / Thermal _
c. auaifes / formal
d. firemsfn/ Silkscreen

el 3w i R s e dreet i fiserg ) el e g s S ¥
Commonly used solder in electronics is a metal alloy made by combining
a. ferdmn/ Tin-Lead

b. g dm/ fron-Lead

c. T&—awr/ Tin-Iron

d. - e / Tron-Copper

Voltage drop across a closed switch

a,  wm A / Nearly Zero

b. awen / Infinite

c. @1 Heest / Applied voltage

d. 3% 7 9 %5 & / None of the above

Rl 111111110111110111 densd = ot @ Sewrerm i uiafis @it

Convert the following number 111111110111110111 from binary to
hexadecimal '

a. FDF10

b. 3FDF7

c. FFE31

d. 1FED2

e g7 atr it Hrematy 0.5 fired ¥ € ot swh e . ELuii

If time period of a sine wave is 0.5 milliseconds then its frequency is
a. 20Hz

b. 200Hz

¢. 20000Hz

d. 2000Hz
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e uftrs el 3w f S T Wk .. B d

Electrolyte used in lead acid battery is

a. wemnEy eegeang (KOH) / Potassium Hydroxide (KOH)

b,  smeE weRiE te (11,504) / Dilute Sulphuric Acid ( H>SO4)
c. wmgias wiag (HCL) / Hydrochloric Acid (HCL)

d. sremers fFerm / Alkaline Solution

Rating of a transformer is given in

a. KV
b. KA
c. KW
d. KVA

T et eEia SR afos it e . SR
Impedance of an ideal parallel resonance cireuit is

a. e/ Infinite

b. &/ Zero
¢. 1K ohms
d. w9 4 = 16/ None of the above

afs 3-svr5;AND e o113 gqe wrenard @ @, LOW wﬁwmaﬁrﬁaﬂmm
wehelt &

If a 3-input AND gate has eight input possibilities, how many of those
possibilities will result in a LOW output?

a. 1

b. 2
c. 7
d 8

ufeqer % forg peerea & ELCBs @t wa fean s &

ELCBs are mainly used in circuits for

a. @ alees 3 wan / Protection against under voltage

b, ercufies dieds @ gean / Protection against over voltage
c. = % fera @ g / Protection against current leakage
d. g afma @ gean / Protection against short circuit

=1 ww I 1 amar 1000mAH 2 a Frefefiaa o sl wr w3
If a battery has a capacity of 1000mAH, then which of the foHowmg is true

a. I% UHHE F fore arg i LA Rl S R TR
It can source 1A of current for one hour

b. dreEeFRwamd 0.5A & €l YHa 8
It can source (0.5A of current for two hour

C.  UZ M HE F form arg 2A Rl e S HhaT B
It can source 2A of current for half an hour

i
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d. SWrm et
All of the above

TR 2R ¥ T eftaes g W % uftafda frar sar @
An inverter module in a power supply converts

a. AC¥DC /ACTODC

b. DC®AC /DCTOAC

¢. ACZAC /ACTOAC

d. DCaDC /DCTODC

g et afnfir 3, wafies o (N1) qon orgges o (N2) ...... vHdtm e ¥
In a step down transformer primary turns (N1) and secondary turns (N2) are
related by '

a NI>N2
b. N1<N2
¢. N1I=N2
d. S ¥ ¥ w8 7/ None of the above

e SR fiere-sei 3 R s wmoft P 2o sife 2
The truth table for an SR flip flop has how many valid entries?

a 3
b. 2
c. 4
d 1
% ¥ T g Rag-geia 27

Which of the. following is a universal Flipflop?

a.  dfw-wew/ T Flip flop

b. S, Rem-widiv / JK Flip Flop

c. €. ffag-ved / D Flip Flop

d. @, fiem-gediw / SR Flip Flop

BOS1 & Hellfra Stamrt 4 6 ... Gl _
The number of interrupts that can be handled by 8051
a 3

b. 4

c. 5

d 6
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64 x | wgtiehaer o fiFamert oy R 2 x | aigehaes 1 armawEssar g
Number of 2 x 1 Multiplexers are required to implement 64 x 1 Multiplexers

a. 60
b. 6]
¢, 62
d. 63

Frerferfia 3 & w0t 4l g (CPU) % 2 wige wiew & 2

Which of the following are the two main components of the CPU?
frie g ud dsfiam / control unit and registers

P wE e A / registers and main memory
T give wd ALU / controf unit and ALU
ALU @i s/ ALU and bus

e TR =

A Microsoft Windows is ....

a. Sirifen wome / Operating system
b.  vifte s / Graphic program

c. =€ g/ Word Processing

d. sweeE g / Database program

tehert iy fearfimt & 5 forer srgeremfors et 87
How many different states does a 5-bit asynchronous counter have?
a. 4

b, 32
c. 16 .

4 8

o TR B el ) e Rl s e e T 3 A i

Shifting a register content to left by one bit position is equivalent to

& wm / Division by two.

31 & sirgar / Addition by two,

g @ s / Multiplication by two
a9 wer / Subtraction by two.

e oow

T 9 o e e g oot e =R ot foea st s 3
A full adder can be implemented by the following gates

2X0OR,2 AND, | OR
2X0R,20R,1AND
1 XOR,20R,2AND
2 XOR, 20R, 2 AND

RO o
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5@ 8051 =i [ wenfew form mam v EA wmgt =9 (HIGH) &, 8 —-mmmmmeee oo B e

IR Al MY HE I 07
When the 8051 is reset and the. EA line is HIGH, the program counter pomts to

the first program instruction in the:
I % W/ external code memory
arfafes g #E / internal data memory
A erer #A / external data memory
Fiafr @iz 49/ internal code memory

e e o

Tyt sl giforeet & Wt # friferfa o wdt 3
The following statement is true in case of bipolar junction transistor
A et oo e aro @ et i |
Collector current is greater than emitter current
b. sk e Ut ar & s1fes Bt @

Base current is greater than emitter current
C.  THOE U S 9T W Bl

Collector current is smaller than base current
d, 3 G Ufiter ud et aT @ 9w @

Base current is smaller than both emitter and collector current

CE €830 3, .ooovviiiene. .%m@BJT%wmﬂwwwmw%
In CE configuration, the output characteristics of a BJT is drawn between
d. IC and VCB

b. IE and VCB
C. Ic and VCE
d. IE and VCE
ot o=t o B wi-ar e et e 27

Which of the following statement is not correct?

a. TRIAC ua 3-8 SCR 2/ TRIAC is a bidirectional SCR

b.  TRIAC ws=rwa smsm ¥/ TRIAC is a four layer device

c. TRIAC gm famei # denfera 7 =t waha1 8 / TRIAC cannot conduct in both
directions

d.  TRIAC ww 3 zfifge swmwr 2 / TRIAC is a 3 terminal device

The linear variable differential transformer transducer is

iy gieggee / Capacitive transducer

#1- 3t giugygr / Non-inductive transducer
e giagge / Inductive transducer

folelt giwgaat / Resistive transducer

Boe o
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Feafafaa & & 9 wrgshidie wler @ ety & 7

Which among following is associated with Microsoft Excel ?
a.  wift s / Graphic program |

b. &€ g/ Word Processor

c. &M/ Presentation

d. ®exfic/ Spreadsheet

FerfeTRet et & & S-aT e ad 9d 22

Which of the following statement is not correct?

a. U deeria § a7l wea iy g Afee

Voltmeter should have a very high resistance
b.  u= tfier # srfs firr iy g7 =nfe

An ammeter should have a very low resistance
c. & e i i frer gl S =nfag

A shunt should have a very low resistance
d.. TF wRIF deehiet S 3 gl ur e R

An electronic voltmeter draws appreciable current from source

Seh gy Freerter 4T ., ®
The voltmeter reading in the circuit is

100 ko

s
_— | 100
N ko C‘O

a. 5V
b, 0OV
c. 1V
d. 2.5V
diet MOSFET ... ST BT 8
Power MOSFET is device
a. g ffag faget / Current controlled bipolar -
b. e REa v g / Current controlled unipolar
c. deew Frifim fg-gt / Voltage controlled bipolar
d. e Frefie o - gt/ Voltage controlled unipolar
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PT-100 ws @fm RTD # frear 0° 4. w sfme 1000 3 afs @ 1 e e s
3.9X 10 %/°C %, 3 10° . wvgw whda 1 v g

PT-100 is a Platinum RTD whose resistance at 0° C is 100Q. If the resistance
temperature co-efficient of Platinum is 3.9 X 10 3/°C, then find its resistance at
10°C

a. 1390
b. 103.90Q

c. 61Q

d 9610

.= (SCR) v, BT R
SCR is

a. 1, T amfet / Unidirectional thyristor
b. - shERe amsiex / Uni-junction thyristor
¢. B-ffi wdftex / Bidirectional thyristor
d. - stwee e / Bi-junction thyristor

Tt o @ < @ uftey arewE (positive) Hrese s 3w |
Which of the following circuit employs positive feedback

a, fezwrd/ Rectifiers

b. </ Oscillators

c. wads / Amplifiers

d. =/ Filters

FTTaRt HTa-ug T Fw ftemar . ®
Input impedance of ideal op-amp is
a. wk/ Unity

b. swea / Infinite
c. &/ Zero
d. 100

Ziftreer W ell & el 89w 2 S R
Heat Sinks in Transistors reduce the

a. gifsmet 9k / Transistor Power

b. uf@w amwm / Ambient Temperature

c. siave w@ione / Junction Temperature

d. == gw/ Collector current

TS % o B % = U WA . SIS

The charge of the body after losing electron becomes
a. =humews w9 ¥ sTafda / Negatively charged

b, wmmeweR T ® ey / Positively charged

c. e ey ¥ Renafie / Electrically neutral

d. sulw i w=E T8/ None of the above

9
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iy e et o S R R e e R T m—

Digital storage oscilloscope is used to measure amplitude of signals
a.  waEEhi / Sinusoidal

b. B/ Triangular

c. 3w/ Saw tooth

d. 3w @t / All the above

T Sioeig wrenfors after g & e e S d L wHIfe ¢

An optocoupler is an integrated circuit consists of i the same
package ~

a. LED dasferie / LED and zener diode

b. LCD w@ MOSFET/ LCD and MOSFET

¢. SCR wisrie/SCR and Diode

d. LED wiwigrems/ LED and photo diode

: Wmmﬁﬁﬁ,wmﬁmwﬁwﬁﬁﬁ%mmw(m@)m

SRIRT R

Which of the following transmission line use outer conductor (braid) for
avoiding radiation loss and external interference?

a.  wER/ Fibre

b.  waner Ffer / Twisted wires

c. wereRndg / Coaxial cable

d.  ww g/ Open-wire

Fe=t e =7 woigeer wRdy L B &

1kQ)
4kC2
25002
20Q

oo

10




49 frafifes iy 2
The following circuit is

R

D, -73 li D2 %

V; VQ
l C Ve —Vr2 l
a. e/ Clampel
b. femc/ Clipper
c. Tam/ Regulator
d. yads / amplifiers
50
a. =amRad / Integrator
b. . fres / Differentiator
c. aws srpmt / Voltage follower
d. T wads / Differential amplifier
51 Wmﬁw.ﬁmmaﬁ%WHﬂg@m ........ 2
Major advantage of Fibre Optic Communications compared to line
communication is
a. e fawR / More Bandwidth
b. a1t =afaswn / More Interference
c. wrma/ Cost
d. I==en wa &fa / Higher power loss
52 T Iester AT SIS AT § S oo, BT B

An emitter follower has a voltage gain that is
a. l1#@=sa/Lessthanl

b. 10 % atfw / Greater than 10

¢. 1@ e/ Greater than 1

d. ==/ Zero

11




53

54

55

56

57

A coupling capacitor is

a. wDCwR/ aDC short

b. wACwgen/ a AC open

¢. @wWDCgmw ACwié /a DC open and AC short
d. wDCwawm ACgar/a DC short and AC open
EERIHCTEC T T I KGR % fiepe w5 w2
Optical fibre cable operates near ----------- frequency.
a. 80 GHz

b. 800 MHz

c. 800THz

d. 80KHz

e B R S R 3 T T AT erew R Rt e, e, @, a9 e de A,
The resistance value of a carbon resistor having red, black, green and silver color
bands is ... '

a. 2M ohms +/- 10%

b. 20M ohms +/- 10%

c.  200M ohms +- 10%

d.  20M ohms +/- 5%

ST WTgeTT FrHT 9 Tmafey wigert 8., ot

The Disadvantage of Frequency Modulation over Amplitude Modulation scheme
is -~ :

a. TE9 MGE deha Hl SEvaT ¥
High modulating signal is required
b. e amge wha & VIR
High cariier signal is required
c. WIWY
Noise is high
d. e e o i savasa §
Larger bandwidth is required

e S AL 3 gyl 2

Power Amplifier circuit is essential in
a. oo / Receivers

b. wigea/ Modulators

c. M/ Transmitters

d. #ga® / Detectors

12
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Wﬁ.ﬁ.mﬁww%ﬁmwﬁmmwm.;.

B

Most widely used transmission line for Cable TV network distribution system is

a. e g/ Single wire

b.  ggEer g / Twisted wire
c. @t/ Fibre _
d.  waer FREe / Coaxial cable
FM sifimnfeat 4, smm o,

In FM receivers, amplitude limiter

a.  Trer s % w5 yatti s ?

Amplifies the low level signals
b, e v o i s affoy e @

Attenuates the low level signals
C. ST Hehdl 7 et afteda s Freter dar 3

- Eliminates any change in stgnal amplitude

d.  sulrs et

All the above

An 1deal diode presents ---------- when reverse biased and
* biased.

a. g, we / Open, Short

b. =, gen/ Short, Open

c. @, gen/ Open, Open

d. ww, wé / Short, Short

13
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